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Q1. [14 pts| Probability

(a) For the following questions, you will be given a set of probability tables and a set of conditional indepen-
dence assumptions. Given these tables and independence assumptions, write an expression for the requested
probability tables. Keep in mind that your expressions cannot contain any probabilities other than the given
probability tables. If it is not possible, mark “Not possible.”

(i) [1 pt] Using probability tables P(A),P(A | C),P(B| C),P(C| A,B) and no conditional independence
assumptions, write an expression to calculate the table P(A, B | C).

P(A,B|C) = (O Not possible.

(ii) [1 pt] Using probability tables P(A),P(A | C),P(B| A),P(C| A,B) and no conditional independence
assumptions, write an expression to calculate the table P(B | A, C).

P(B|A,C) = (O Not possible.

(iii) [1 pt] Using probability tables P(A | B),P(B),P(B | A,C),P(C | A) and conditional independence as-
sumption A 1l B, write an expression to calculate the table P(C).

P(C) = (O Not possible.

(iv) [1 pt] Using probability tables P(A | B, C),P(B),P(B | A, C),P(C | B, A) and conditional independence
assumption A 1l B | C, write an expression for P(A,B, C).

P(A,B,C) = (O Not possible.

(b) For each of the following equations, select the minimal set of conditional independence assumptions necessary
for the equation to be true.

(i) [1 pt] P(A,C) =P(A|B) P(C)

J aAuB|C [J BucC
(] BlC|A [] AuB
] a1 cC ] No independence assumptions needed.
L Aauc|B
(i) [1 pt] P(A | B,C) = PALFEIA PO
% Al C J Aauc|B
Al B|C [J BucC
L0 Buc | A ] No independence assumptions needed.
(] 4B

(iii) [1 pt] P(A,B)=> .P(A|B,c) P(B|c) P(c)

(] Bucl|4a [l A1B

L] BucC [ aunB|C

Ll Aanc | B ] No independence assumptions needed.
L aunc



(iv) [1 pt] P(A,B|C,D)=P(A |C,D) P(B|A,C,D)

(J AuB|D (] A4uB

(J cubp|A [l a1B|C

L0 cup | B ] No independence assumptions needed.
] cubp

(c) (i) [2 pts] Mark all expressions that are equal to P(A | B), given no independence assumptions.

(] >, P(4,¢|B) [ 2EALEAC

] P}(;(a\éculg?) 0 P(A|CI§()C|1;()C|A .B)

O > P(A]B,c) [J None of the provided options.
U 5

(i) [2 pts] Mark all expressions that are equal to P(A, B, C), given that A 1L B.

U P(A) P(B) P(C | A, B) L pPa) P(C|A) P(B|C)

L p(e) Pa|C) P(B|C) 0 p(a,0) P(B|A,0)

L] P4) P(B|A) P(C|A,B) [J None of the provided options.

Ll P@|c) P(C|B) P(B)

(iii) [2 pts] Mark all expressions that are equal to P(A,B | C), given that A 1L B | C.

] PA|C)PB|C) [ Hes?rE)
> .P(ABc)

= [J PA|B)PB|O)

] 2O ;Eg:i?];;(“c) [J None of the provided options.
P(A) P(B|A) P(C|A,B

0 o g raas



Q2. [8 pts] Bayes’” Nets: Representation

Assume we are given the following ten Bayes’ nets, labeled Gy to Gig:

@@
& &

VT

Assume we are also given the following three Bayes’ nets, labeled By to Bs:

ONO (D—(®) (A)—(e)
(©) ©) ©)

B1 B2 B3

(a) [2 pts] Assume we know that a joint distribution d; (over A, B, C) can be represented by Bayes’ net By. Mark
all of the following Bayes’ nets that are guaranteed to be able to represent dj.

] o, (] G, L Gs L G, [l Gg
L] Ge ] G, L] Gs L] Gy ] Gio
] None of the above.

(b) [2 pts] Assume we know that a joint distribution dg (over A, B, C) can be represented by Bayes’ net Ba. Mark
all of the following Bayes’ nets that are guaranteed to be able to represent ds.

D Gl D Gz D G3 |:| G4 D G5
U Ge O Gy U Gs U G L Gio
[ ] None of the above.

(c) [2 pts] Assume we know that a joint distribution dg (over A, B, C) cannot be represented by Bayes’ net Bg.
Mark all of the following Bayes’ nets that are guaranteed to be able to represent dgs.

O a, O G, O G, O G, [ Gs
(] Ge ] G, (] Gs L] G [l G
[ ] None of the above.

(d) [2 pts] Assume we know that a joint distribution d4 (over A, B, C) can be represented by Bayes’ nets By, B,
and Bs. Mark all of the following Bayes’ nets that are guaranteed to be able to represent dg.

U a6, U Ge L Gs L G, [l Gy
L] Gg ] G, L] Gs L] G ] Gio
[] None of the above.



Q3. [8 pts] Bayes’ Nets: Independence

For the following questions, each edge shown in the Bayes’ nets below does not have a direction. For each of
the edges shown, assign a direction (by adding an arrowhead at one end of each edge) to ensure that the Bayes’
Net structure implies the assumptions provided. You cannot add new edges. The Bayes’ nets can imply more
assumptions than listed, but they must imply the ones listed. If there does not exist an assignment of direc-
tions that satisfies all the assumptions listed, clearly mark the Not Possible choice. If you mark the Not Possi-
ble choice, the directions that you draw in the Bayes’ net will not be looked at. Keep in mind that Bayes’ Nets
cannot have directed cycles. You may find it useful to use the front of the next page to work on this problem.

(a) [2 pts]

A

O
O

Assumptions:

e AIll F
e BIFE|D
e AULFE|C

| g g |

Assumptions:

(O Not Possible

(b) [3 pts]

e CLE|H
e AL H|B,D
e FUG|AD

(O Not Possible

(c) [3 pts]

)
)

Assumptions:
e BILH
e BILG|E,F
e AILE|CH

(O Not Possible
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Q4. 6 pts] Bayes’ Nets: Inference

Assume we are given the following Bayes’ net, and would like to perform inference to obtain P(B,D | E = e, H = h).

(a) [1 pt] What is the number of rows in the largest factor generated by inference by enumeration, for this query
P(B,D | E=e,H = h)? Assume all the variables are binary.

O 28 O 2° O 22 o 2
(O None of the above.
(b) [2 pts] Mark all of the following variable elimination orderings that are optimal for calculating the answer for

the query P(B,D | E = e, H = h). Optimality is measured by the sum of the sizes of the factors that are
generated. Assume all the variables are binary.

Ll ¢, AFG U G FC A U ra,cA ] A,CFG
[] None of the above.

(c) Suppose we decide to perform variable elimination to calculate the query P(B,D | E = e, H = h), and choose
to eliminate F' first.

(i) [2 pts] When F is eliminated, what intermediate factor is generated and how is it calculated? Make sure
it is clear which variable(s) come before the conditioning bar and which variable(s) come after.

Si( | ) =2

(ii) [1 pt] Now cousider the set of distributions that can be represented by the remaining factors after F is
eliminated. Draw the minimal number of directed edges on the following Bayes’ Net structure, so that it
can represent any distribution in this set. If no additional directed edges are needed, please fill in that

option below.

(O No additional directed edges needed



Q5. [10 pts| Bayes” Nets: Sampling

Assume we are given the following Bayes’ net, with the associated conditional probability tables (CPTs).

A | B |PB|A) B | C | P(C|B)
A [P(A) ta | +b 0.2 b | fc 0.4
+a 0.5 4+a | —b 0.8 +b | —c 0.6
—a 0.5 —a | +b 0.5 b | +c 0.8
—a | =b 0.5 b | —c 0.2
C | D E | P(E|C,D)
4c | +d | +e 0.6
B | D | PD]|B) 4c | +d | —e 0.4
+b | +d 0.2 +c | —d | +e 0.2
+b | —d 0.8 4+c | —d | —e 0.8
—b | +d 0.2 —c | +d | +e 0.4
b | —d 0.8 —c | +d | —e 0.6
—c | —d | +e 0.8
—c | —d | —e 0.2

You are given a set of the following samples, but are not told whether they were collected with rejection sampling

or likelihood weighting.
—a b H4c +d +He

—a +b 4c¢ —-d +e
—-a b —c —-d +e
—a —-b +c —-d +He
—a +4+b +c +d He

Throughout this problem, you may answer as either numeric expressions (e.g. 0.1x0.5) or numeric values (e.g. 0.05).

(a) [2 pts] Assuming these samples were generated from rejection sampling, what is the sample based estimate of
P(+b| —a,+e)?

Answer:

(b) [2 pts] Assuming these samples were generated from likelihood weighting, what is the sample-based estimate of
P(+b| —a,+e)?

Answer:




(c) [2 pts] Again, assume these samples were generated from likelihood weighting. However, you are not sure about
the original CPT for P(E | C, D) given above being the CPT associated with the Bayes’ Net: With 50%
chance, the CPT associated with the Bayes’ Net is the original one. With the other 50% chance, the CPT is
actually the CPT below.

C | D|E | PE|C, D)

‘e | +d | e 0.8 Samples from previous page copied below for convenience:
+c | +d | —e 0.2

4c | —=d | +e 0.4 —a —-b +c +d +e

4c | —d | —e 0.6 —-a +b +4c¢ —-d +e

—c | +d | +e 0.2 —a —b —c —d e

—c | +d | —e 0.8 —a —b +c —d +e

—c | —d | +e 0.6 —a  +b +c  +d  He

—c | —d | —e 04

Given this uncertainty, what is the sample-based estimate of P(+b | —a, +e€)?

Answer:

(d) [1 pt] Now assume you can only sample a small, limited number of samples, and you want to estimate
P(+b,4+d | —a) and P(+b,+d | +e). You are allowed to estimate the answer to one query with likelihood
weighting, and the other answer with rejection sampling. In order to obtain the best estimates for both
queries, which query should you estimate with likelihood weighting? (The other query will have to be estimated
with rejection sampling.)

O P(+b,+d| —a)
O P(+b,+d | +e)
(O Either — both choices allow you to obtain the best estimates for both queries.

(e) Suppose you choose to use Gibbs sampling to estimate P(B, E | +c, —d). Assume the CPTs are the same as
the ones for parts (a) and (b). Currently your assignments are the following:

-a b H4¢ —-d He

(i) [1 pt] Suppose the next step is to resample E.
What is the probability that the new assignment to E will be +e?

Answer:

(i) [1 pt] Instead, suppose the next step is to resample A.
What is the probability that the new assignment to A will be +a?

Answer:

(iii) [1 pt] Instead, suppose the next step is to resample B.
What is the probability that the new assignment to B will be +b?

Answer:

10



Q6. [13 pts] VPI

Consider a decision network with the following structure. Node A is an action, and node U is the utility:

voR
©

(a) [1 pt] Choose the option which is guaranteed to be true, or “Neither guaranteed” if no option is guaranteed to
be true.

O VPI(C)=0 O VPI(C)>0 (O Neither guaranteed

(b) [2 pts] Mark all of the following that are guaranteed to be true.

] vPI(E)<VPI(B) ] vPI(E)>VPI(B)

L vPI(E)=VPI(B) [J None of the above

(c) [2 pts] Mark all of the following that are guaranteed to be true.

[ VPI(E|F)<VPIB|F) U vPI(E|F)>VPIB|F)

[l VPI(E|F)=VPI(B|F) [] None of the above

11



The decision network on the previous page has been reproduced below:

voR
©

(d) [2 pts] Noting that E 1L G | F, mark all of the following that are guaranteed to be true.

[0 VPI(E,G|F)=VPI(E|F)+VPIG | E,F) [l VPI(E,G|F)=VPI(E|F)VPI(G|E,F)
[ VPI(E,G|F)=VPI(E|F)+VPIG|F) [J VPI(E,G|F)=VPIE|F)VPIG|F)

[l None of the above

(e) [3 pts] Suppose we have two actions, a; and as. In addition, you are given P(B) and P(D) below. Fill in

(f)

the empty entries in the utility table below with either 1 or —1 such that VPI(B) = VPI(D) = 0, but
VPI(B,D) > 0.
Note on grading: You will get 1 point for each condition you enforce correctly, that is, you get 1 point each for

ensuring VPI(B) = 0, VPI(D) = 0, and VPI(B,D) > 0. If you cannot enforce all three conditions, try to
enforce two for partial credit.

Action a;: Ulay, B, D) Action as: Ulasg, B, D)
+b | +d 1 +b | +d
P(B) P(D) —b | +d —b | +d
+b | 0.5 +d | 0.5
-b | 0.5 -d | 0.5 +b | —d +b | —d
—b | —d —b | —d

For this question, assume you did the previous part correctly - that is, you should assume that
VPI(B)=VPI(D)=0, and VPI(B,D) > 0.
Now taking into account your answer from the previous part, choose the option which is guaranteed to be true,

or “Neither guaranteed” if no option is guaranteed to be true. This means that you should fill in one
circle for each row.

(i) 1pt] ©O VPI(E)=0 O VPI(E)>0 (O Neither guaranteed
(ii) [1 pt] O VPI(G)=0 O VPIG)>0 (O Neither guaranteed
(iii) [1 pt) O VPI(D|B)=0 O VPI(D|B)>0 (O Neither guaranteed

12



Q7. [13 pts] HMM: Where is the Car?

Transportation researchers are trying to improve traffic in the city but, in order to do that, they first need to estimate
the location of each of the cars in the city. They need our help to model this problem as an inference problem of an
HMM. For this question, assume that only one car is being modeled.

(a) The structure of this modified HMM is given below, which includes X, the location of the car; S, the noisy
location of the car from the signal strength at a nearby cell phone tower; and G, the noisy location of the car

from GPS.
T oe

We want to perform filtering with this HMM. That is, we want to compute the belief P(x¢|s1.t,91.t), the
probability of a state x; given all past and current observations.

The dynamics update expression has the following form:

P(wt|51:t71791:t71) = (l) (ii) (iii) P(xt71|51:t71791:t71)o

Complete the expression by choosing the option that fills in each blank.

() [1pt] O P(sie,91:4) O P(sia-1,914-1) O P(s14)P(g1e) O P(s1-1)P(g1e-1) O 1
@) 1pt] O >, O ) O max,, O max,,

(i) 1 pt] O P@i2,e-1) O P@ii|x—2) O Plxi—r,2) O Plailai—q)

The observation update expression has the following form:

O 1
O 1

P(z¢|s1:4, 91:4) = (iv) (v) (vi) P(z¢|s1:0—1, 91:4—1)-

Complete the expression by choosing the option that fills in each blank.

(iv) [1 pt] O P(st, gels1:0-1, 91:0-1) O P(s1:4-1,91:t—15t, 9¢) O P(s¢]s1:4-1)P(gelgr.e-1)
1 1
O P(Slzt%'St)P(gl:til'gt) O P(Stvgt|51:t—1vglzt—1) O P(£1:t—1,91:t—1|8t,gt)
1 1

O Bl Pl Penal Pl O
(v) [1 pt] O th_l O ZT, O max,,_, O max,, O 1
(vi) [1pt] O P(siale-1)Plgiilzior) O Play,so)P(xe,g0) O P(xy, s, 90)

O P(zi—1,8-1)P(@i—1,90-1) O Pwi—1,80-1,9t-1) O  P(xe|se)P(xe|ge)

O Plzialsi—1)P(zi—1]lgi—1) O P(se|me) P(ge|xe) O 1

(b) It turns out that if the car moves too fast, the quality of the cell phone signal decreases. Thus, the signal-
dependent location S; not only depends on the current state X; but it also depends on the previous state X;_;.
Thus, we modify our original HMM for a new more accurate one, which is given below.

(x>

N

Again, we want to compute the belief P(x¢|s1.t,91.¢). In this part we consider an update that combines the
dynamics and observation update in a single update.

13



For convenience, the HMM from part (b) from the last page is redrawn below.

@@@

P($t|51:taglzt) = (1) (ii) (iii) (iV) P(fEt—1|81:t—1791:t—1)~
Complete the forward update expression by choosing the option that fills in each blank.
() pt] O P(st,gels1:4-1,91:4-1) O P(st:—1, Gr:4—1|5¢, gt) O P(st|s1:4-1)P(gtlg11-1)
1 1
O O P(s1.4—-1]8:)P(g1.4—
P(Stagt‘sl:tfhgl:tfl) P(81:t71791;t71|8t79t) ( i 1| t) (gu 1|gt)
1 1
O O O 1
P(5t|81:t—1)P(gt|91:t—1) P(Slzt—l\st)P(glzt—ﬂgt)
@ipl O X, O %, O me, O maw, O 1
(i) 1 pt] O P(mi—2,2-1,81-1)P(xi-1,90-1) O P(wi—1,24,8)P(we,9:) O P(s4—1,9t—1|T1-1)
O P(si—1|mi—o,2e-1)P(gr—1]zi—1) O P(selwe—1,2)Plgelze) O Pst, gelze)
O P(zi-g,zi-1|st-1)P(xi-1lgt-1) O Plxi—1,z¢|s)P(aelgr) O 1
O P(zt—2,24-1,St-1,9t-1) O P(zi—1,24,5t,Gt)
(iv) [1pt] O Pler,2z) O Plale,) O Plegza) O Plreale—,) O 1

(c) The Viterbi algorithm finds the most probable sequence of hidden states X;.7, given a sequence of observations
s1.1, for some time ¢t = T'. Recall the canonical HMM structure, which is shown below.

666

For this canonical HMM, the Viterbi algorithm performs the following dynamic programming computations:

me[x:] = P(s¢|ay) max Pz wi—1)me—1[xe—1].
Tp—1

We consider extending the Viterbi algorithm for the modified HMM from part (b). We want to find the most
likely sequence of states Xi.r given the sequence of observations si.7 and gi.7. The dynamic programming
update for ¢ > 1 for the modified HMM has the following form:

™me [I’t] = (i) (ii) (iii) mt_l[xt_ﬂ.

Complete the expression by choosing the option that fills in each blank.
@ [1pt] O X, O .. O max,, O max,, , O
(ii) [1 pt] P(zy_1,2¢,50) Pz, 90) O P(si—1,gi—1|z1-1)
P(si—1]@i—2,21-1) P(ge-1|zi-1) P(silwe—r,2)Pgelee) O Psy, gelae)
) (
(

O P(mtf%xtfl; Stfl)P(l'tflagtfl) O

O P O

O P(mi—2,xi-1|si-1)P(@i—1]lgi—1) O P(mi—1,els))Plailge) O 1
O P O

O P

v

P(xi—o, 41,51, Gt—1) P(xi—1,x¢, 5S¢, 9¢)

(iii) [1 pt] P(xt—1,74) O P(xilzi1) O P(xi—o,x4-1) O Plazi1|zi—2) O

14
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Q8. [11 pts| Particle Filtering: Where are the Two Cars?

As before, we are trying to estimate the location of cars in a city, but now, we model two cars jointly, i.e. car i for
i € {1,2}. The modified HMM model is as follows:

e X — the location of car i
e S() — the noisy location of the car i from the signal strength at a nearby cell phone tower
e G — the noisy location of car i from GPS

d[D(d)[EL(d) [ Ex(d) | Ea(d)
-41 0.05 0 0.02 0

-3 0.10 0 0.04 0.03
-21 0.25 | 0.05 0.09 0.07
-1 0.10 | 0.10 0.20 0.15
0 0 0.70 0.30 0.50
0.10 | 0.10 0.20 0.15
0.25 | 0.05 0.09 0.07
0.10 0 0.04 0.03
0.05 0 0.02 0

=W Do =

The signal strength from one car gets noisier if the other car is at the same location. Thus, the observation St(i) also
depends on the current state of the other car Xt(])7 Jj #i.

The transition is modeled using a drift model D, the GPS observation Ggi) using the error model E¢g, and the

observation St(i) using one of the error models Ej or Fy, depending on the car’s speed and the relative location of
both cars. These drift and error models are in the table above. The transition and observation models are:

P(X ’|X§ >1> D(x;" = x;)

P, 50,9y = BRS80S~
t—1> <t 7 ) .
)7 otherwise
P(GY1xY) = Eg X(z G“ ).
Throughout this problem you may give answers either as unevaluated numeric expressions (e.g. 0.1-0.5) or as numeric
values (e.g. 0.05). The questions are decoupled.
(a) Assume that at ¢ = 3, we have the single particle (X5 x{V=_1, X(2> 2).

(i) [2 pts] What is the probability that this particle becomes (X, —— =-3,X, o 3) after passing it through
the dynamics model?

Answer:

(ii) [2 pts] Assume that there are no sensor readings at t = 4. What is the joint probability that the original
single particle (from t = 3) becomes (Xil) = -3, Xf) = 3) and then becomes (Xél) = —4, Xéz) =4)?

Answer:

15



For convenience, the HMM and probabilities from the last page are redrawn and rewritten below.

d[D(d) [EL(d) [ Ex(d) | Ea(d)
-41 0.05 0 0.02 0

-3 0.10 0 0.04 0.03
-21 0.25 | 0.05 0.09 0.07
-1 0.10 | 0.10 0.20 0.15
0 0 0.70 0.30 0.50
0.10 | 0.10 0.20 0.15
0.25 | 0.05 0.09 0.07
0.10 0 0.04 0.03
0.05 0 0.02 0

=W Do =

P(x|x{") = D(x{? - X))
Ex(Xx® =89y, if |x = x| >20r x{P = x9
Ep (XY — 5%), otherwise

PO, 0,31 - {
P(GY|1x") = Ea(x{” - G{).
For the remaining of this problem, we will be using 2 particles at each time step.
(b) At t = 6, we have particles [(Xél) = 3,Xé2) =0), (Xél) = 3,Xé2) =5)]. Suppose that after weighting, resam-

pling, and transitioning from ¢t = 6 to t = 7, the particles become [(X(l) =2, X;2) =2), (X;l) =4, X;Q) =1)].

(i) [2 pts] At ¢ = 7, you get the observations S( ) =2, G(l) 5(2) ,G(72) = 2. What is the weight of
each particle?
Particle Weight

(x{V =2,x{ = 2)

(x =4, xP =1)

(ii) [2 pts] Suppose both cars’ cell phones died so you only get the observations G( ) =9, G- () — 2. What is
the weight of each particle?
Particle Weight

(X(l) —2 X(2) 2)

(X(l) X(Q) 1)

(c) [3 pts] To decouple this question, assume that you got the following weights for the two particles.
Particle Weight

(X =2, xP =2) | 0.09

(xV =4, xP =1)| o0.01

‘What is the belief for the location of car 1 and car 2 at t = 77

Location P(X;l)) P(XS))
X =1
X =2
x =4

16



Q9. |7 pts] Naive Bayes MLE

Consider a naive Bayes classifier with two features, shown below. We have prior information that the probability
model can be parameterized by A and p, as shown below: Note that P(X; =0|Y =0)=P(X; =1Y =1) =p and
P(X:|Y) = P(X32]Y) (they share the parameter p). Call this model M1.

Y | P(Y)
0 A
a 1] 1-X
Xy | Y | P(X,|Y)
X[V [ PO R
OIS o T 0 1] 15
1 1 P
0 1 1—p
1 1 P
We have a training set that contains all of the following:
e nggo examples with X; =0, X0 =0,Y =0 e ngo1 examples with X7 =0, Xo=0,Y =1
e ngip examples with X; =0, Xo =1,Y =0 e ng11 examples with X7 =0, Xo =1, Y =1
e nigp examples with X; =1, Xo =0,Y =0 e nig; examples with X7 =1, Xo=0,Y =1
e nj19 examples with X; =1, Xo=1,Y =0 e ny11 examples with X7 =1, Xo =1, Y =1

(a) [2 pts] Solve for the maximum likelihood estimate (MLE) of the parameter p with respect to

1000, 100, 70010, 71110, 12001, 101, Po11, and ny11.

(b) [2 pts] For each of the following values of A, p, X7, and Xa, classify the value of Y. Hint: No detailed calculation
should be necessary.

Nl p x| x| Y
3/415/81 0| 0
2/5 | 4/7] 1 | 0

(c) [1 pt] For the following value of A, p, X1, and X», classify the value of Y. Detailed calculation may be necessary.

A p X1 Xg Y
3/513/7] 0| 0

(d) [2 pts] Now let’s consider a new model M2, which has the same Bayes’ Net structure as M1, but where
we have a p; value for P(X; = 0|Y =0) = P(X; =1|Y = 1) = p; and a separate py value for
P(X2=0|Y=0)=P(Xs=1|Y =1) = py, and we don’t constrain p; = py. Let Ly be the likelihood of
the training data under model M1 with the maximum likelihood parameters for M1. Let Lo be the likelihood
of the training data under model M2 with the maximum likelihood parameters for M2. Which of the following
properties are guaranteed to be true?

Ly > Lara
Ly < Lara

Insufficient information, the above relationships rely on the particular training data.

O O OO0

None of the above.
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Q10. [10 pts| Perceptron

(a)

(b)

(c)

[1 pt] Suppose you have a binary perceptron in 2D with weight vector w = 7 [wy, w»]T. You are given w; and
wa, and are given that r > 0, but otherwise not told what r is. Assume that ties are broken as positive.

Can you determine the perceptron’s classification of a new example x with known feature vector f(x)?

O  Always (O  Sometimes O Never

Now you are learning a multi-class perceptron between 4 classes. The weight vectors are currently [1,0]7,
[0,1]7, [-1,0]T, [0, —1]T for the classes A, B, C, and D. The next training example = has a label of A and
feature vector f(x).

For the following questions, do not make any assumptions about tie-breaking. (Do not write down a solution
that creates a tie.)

(i) [1 pt] Write down a feature vector in which no weight vectors will be updated.

(O Not possible

(ii) [1 pt] Write down a feature vector in which only w4 will be updated by the perceptron.

(O Not possible

(iii) [1 pt] Write down a feature vector in which only w4 and wp will be updated by the perceptron.

(O Not possible

(iv) [1 pt] Write down a feature vector in which only w4 and w¢ will be updated by the perceptron.

(O Not possible

The weight vectors are the same as before, but now there is a bias feature with value of 1 for all x and the
weight of this bias feature is 0,—2,1, —1 for classes A, B, C, and D respectively. As before, the next training
example x has a label of A and a feature vector f(z). The always “1” bias feature is the first entry in f(z).

(v) [1 pt] Write down a feature vector in which only wg and we will be updated by the perceptron.
ST

f(x) (O Not possible

(vi) [1 pt] Write down a feature vector in which only w4 and w¢ will be updated by the perceptron.

1

f(z) (O Not possible

Suppose your training data is linearly separable and you are classifying between label Y and label Z. The
mistake bound (5%) is equal to 3, which is the maximum number of weight vector updates the perceptron
might have to do before it is guaranteed to converge. There are 100 examples in your training set. Assume the
perceptron cycles through the 100 examples in a fixed order.

(i) [1 pt] What is the maximum number of classifications the perceptron might make before it is guaranteed
to have converged?

O 300 O 103 O 1003 O 3 O 3100

(ii) [2 pts] [true or false] After convergence, the learned perceptron will correctly classify all training examples.

(O None of the options
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